ITEM #	DESCRIPTION	QTY	FMV each	FMV Total	Bid qty	BID amount totals
	Norbec Multi room walk ins					
200		1	\$480,000.00	\$480,000.00		
201	King industrial Dust collector kc- 3105C	1	\$500.00	\$500.00		
202	HOTSY pump 1743	1	\$3,400.00	\$0.00		Sold
203	ABATEMENT negative air machine #PAS750	3	\$1,200.00	\$3,600.00		
204	Standard-acting actuator Triatek and Venturi valve kit	1	\$4,200.00	\$4,200.00		
205	Copeland Compressor FFAP-A20Z- TFC-072	1	\$5,000.00	\$5,000.00		
206	CONVIRON CONTROL PANELs includeds item# 207, 208 see below	8	\$40,000.00	\$320,000.00		
207	Conviron control panel FLWR3070	4		\$0.00		
208	Conviron control panel VEG1020	4		\$0.00		
209	A.O. Smith Hot water tank DEN 66 110	1	\$1,800.00	\$1,800.00		
210	Cyber power PR1500CD	1	\$500.00	\$500.00		
211	Canarm HVAC SD182T3M4A	1	\$600.00	\$600.00		
212	Sani Marc 3 way ball valve mixing station # SANI985300	1	\$250.00	\$250.00		
213	SMVector Lenze AC tech	1	\$600.00	\$600.00		
214	Grow Tables 12 ft by 44" GGS	54	\$1,500.00	\$81,000.00		
215	EFi sink SI818-1RC with sprayer	2	\$650.00	\$1,300.00		
217	Hayward EAU129	8	\$500.00	\$4,000.00		
218	Guardian Eye washing station	1	\$250.00	\$250.00		
219	Grundfos PWN-GFS-2LX	1	\$2,000.00	\$2,000.00		
220	Grundfos A-99383164-p2-2102	1	\$2,800.00	\$2,800.00		
221	WEG NEMA T2721MG1	2	\$200.00	\$400.00		
222	MIXER PULSAFEEDER	2	\$550.00	\$1,100.00		
223	Mitsubishi electric MSZ-GS12NA	2	\$700.00	\$1,400.00		
224	Burcam 506547SS	1	\$600.00	\$600.00		

ITEM #	DESCRIPTION	QTY	FMV each	FMV Total	Bid qty	BID amount totals
226	375 XL Zurn	1	\$600.00	\$600.00		
227	Argus control panels	3	\$50,000.00	\$150,000.00		
229		1		\$0.00		
230	Grundfos DK-8850	1	\$800.00	\$800.00		
231	Grundos MLE112C2-CML4A-JA	1	\$2,400.00	\$2,400.00		
232	WELLXTROE WX-103-WX103	1	\$300.00	\$300.00		
233	Belimo Actuators	14	\$450.00	\$6,300.00		
234	Belimo B350	14	\$350.00	\$4,900.00		
235	2EM3-13 15 17 Schneider control panel	2	\$120.00	\$240.00		
236	aquafine OPTIVENN 08DDL UV filtration system	1	\$7,000.00	\$7,000.00		
237	TEKTROL Actuator	1	\$900.00			sold
238	VCMA-15ULST condensate removal pump	1	\$75.00	\$75.00		
239	NC-1 Condensate neutralization capsule	2	\$100.00	\$200.00		
240	water heater CU199in'	2	\$2,600.00	\$5,200.00		
241	STS-8L chemical pot feeder	2	\$700.00	\$1,400.00		
242	Green line rex power magnetics BA75J-M/T115/Z3 Isolation transformer	6	\$5,100.00	\$30,600.00		
243	Eaton pannelboard PRL4B	1	\$8,900.00	\$8,900.00		
244	CN4-850 Condensate neutralizer	2	\$200.00	\$400.00		
245	Bell & Gossett 185332LF	3	\$700.00	\$2,100.00		
246	Arm strong pump Inc. 74350117-168	4	\$4,000.00	\$16,000.00		
247	Lochinvar Boiler Tank ASME BVU1000-5-9-003	1	\$20,000.00	\$20,000.00		
248	Axiom Liquid level alarm RIA10-1- SAA	2	\$450.00	\$900.00		
249	AXIOM SOLUTION FEEDER MODEL SF100	2	\$2,000.00			

ITEM #	DESCRIPTION	QTY	FMV each	FMV Total	Bid qty	BID amount totals
250	Armstrong Air tank 26 gal 150 PSI expantion tank 329448	1	\$1,500.00	\$1,500.00		
251	Brook Crompton PA6N005-5JP	3	\$1,400.00	\$4,200.00		
252	Design envelope pumping unit DE 4380 0610-005.0	3	\$8,000.00	\$24,000.00		
253	Armstrong IVS102DEPC intelligent variable speed control	3	\$2,000.00	\$6,000.00		
254	Armstrong Air tank 60 gal 175PSI	1	\$3,800.00	\$3,800.00		
255	Lochinvar FTxl fire tube boiler	2	\$19,000.00	\$38,000.00		
256	Kaeser Compressor SK20T Sigma	1	\$18,000.00			Sold
257	Kaeser filter housing F26KB	1	\$250.00			Sold
258	Burcam 506547SS	1	\$450.00			
259	Burcam Captive air pressure tank 600650SS	1	\$250.00	\$250.00		
260	Trane Chillers Roof top includes Steel super structure to support chillers \$72,000 each	5	\$72,000.00	\$360,000.00		Offer pending
261	Air Handlers includes additional pump stands valves and electrontic controlls	10	\$38,000.00	\$380,000.00		
262	Misc pipe vales and pipe connections	1	\$5,000.00	\$5,000.00		
	Total Fair Market Value (FMV)			\$1,997,415.00		

Bidders notes;

Г

Raven's Landing Tennant Improvement - West Coast Liqudators Bidding Form									
ITEM #	DESCRIPTION	QTY	FMV each	FMV Total	Bid qty	BID amount totals			
	Select one bid	optio	n below*		Tota	l bid amount			
In Whole Bid - Check the box on this line									
	In Part Bid - Check the box								
Name*		Phone r	number*			Date of bid			
Email*									
Payment options, VISA, MASTERCARD, EFT, Certifed Cheque, Money Order, Wire Transfer									
СС		Exp	/	CVV					
Signatur	re* Date	By signing you agree that you have put fourth an offical bid and authorize WCL 2010 inc to charge your card or process payment in the amount listed above.							
All bid offere will be reviewed throughout the Cele period. No bid about will be accepted if									

All bid offers will be reviewed throughout the Sale period. No bid sheet will be accepted if required* infomation is not filled out and signed. Bidding sheets can be sent to sales@wclre.com The successful bidder will be contacted at the end of the sale ("in whole bids" received will be contacted within 72 hours of bid for acceptance or denial) and bid payment processed. Successful bidders will have 5 days from acceptance of bid to remove their items from the property at their expense with the exception of built in items that may require more time to deconstruct. *All Sales are final, no Refunds, warranties expressed or implied.* Any items not removed in the required time will be disposed of at the bidders expense, and no refunds to the bidder on original purchace. WCL 2010 Inc., Sturgeon Bailiff or it's affiliates for any issues arising in the future. ***Sale runs via appointment however if "in whole" bid is accepted, the sale will be over***